Give very brief answers, Explanations are not required. SCORE: / 2 PTS

(1] If f(x)=g(x) forall x,and _[f(x) dx converges, what can you conclude about J‘g(),) oo ol

NO CORNCLUS] O

(2] If X < h(x) forall X, what can you conclude about Ih‘(l) dx ?
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[ Consider the three integrals #1: J.CSCJC dx #2: J. 7 dx #3: Iln(x —1) dx
. e =4
Which of the integrals above are improper ?
[A] none [B) only #1 (] only #2 (D] only #3
[E] only #1 and #2 [F] only #1 and #3 [G] only #2 and #3 [H] all
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(2) Consider the three integrals I(O 9)" dx #2: J.—7 dx #3: J-—e dx
D=0 M| B o | o *
Which of the integrals above converge ?
[B] only #1 [C] only #2 [D] only #3
[E] only #1 and #2 [F] only #1 and #3 [G] only #2 and #3 [H] all
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Evaluate Iln(.\'z— 6x+13) dx. SCORE: /_[ pTS
U= ln(x—bx+13) dve=dx ) In(x—bx+3) - T 2xbx
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EvaluateJ“\_li]\_dx.lftheintegral diverges, write “DIVERGES”. j e e dx u=ln * SCORE: / é) PTS
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